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Adet RMS (ppm)
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lagr_asym_us_avg (ppb) 1D pull distribution
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lagr_asym_us_avg RMS (ppm)
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lagr_asym_usr (ppb) 1D pull distribution
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lagr_asym_usr RMS (ppm)
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lagr_asym_usl RMS (ppm)
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lagr_asym_us_dd (ppb)

1D pull distribution

4000 X? I ndf 67.11/74
— Mean  -0.008706 + 0.1092
= p0 -157.3 £ 126.1 C
3000 - 20 __ Std Dev 0.9459 + 0.07723
— r Underflow 0
2000 [— 181
— : Overflow 0
| 16
1000 _ - X2 / ndf 9.384/5
ot l 14 :— Constant 14.81+2.65
o L Mean 0.05417 +0.14167
-1000 .~ 12
- L Sigma 0.9678 +0.1490
2000 — 10
-3000 |— 8
-4000 |y e
4
2r
. ol | IR il
@W@mﬂm@o«mww@mﬁwm E@%awwvw‘_@wv%vﬁo ‘_HHFN:'.
<f.:Wﬂr.JWWQW:ffWWVWV:qVWWVWQT_ﬂWWWV“ WWQW”VVW:’V SIS



lagr_asym_us_dd RMS (ppm)
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